SUBTRACTING UP TO 1 000 000 WITHOUT CARRYING (H - SET 2)

SUBTRACTING UP TO A MILLION

Name:

Time:

Score:

151 969207 — 958004 =

152 366547 — 163246 =

183) 526289 — 86 =

181 332431 — 301431 =

1) 675769 — 124219 =

156) 229624 — 12304 =

87 245271 — 122241 =

1s8) 818604 — 312402 =

189) 882241 — 161021 =

190) - 836907 — 13705 =

191699943 — 356013 =

192) 888575 — 166321 =

193) 542313 — 301300 =

191) - 836685 — 512200 =

195) 482852 — 12441 =

Mathematics: Subtraction - Level 7 - Horizontal - Set 2
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456684 — 122403 =

627409 — 420400 =

731565 — 510553 =

832133 — 512112 =

386174 — 273104 =

221581 — 210050 =

939178 — 205135 =

698079 — 461077 =

917685 — 616271 =

475220 — 340100 =

728526 — 703426 =

519018 — 6010 =

697098 — 644096 =

777523 — 7555013 =

670082 — 350001 =
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